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9. If Lcnxn converges for x = 5 and diverg~sfor x = -7, what can be said about the
n=O

following series?
w

a) LCn
n=O

w

b) LCn4n
n=O

w

c) L(-lrcn3n
n=O

w

d) LCnsn
n=O

10. Find the radius of convergence for each of the following series:
w n(x-2r w (-Irx2n

a) L n b) L
n= 1 3 n=O (2n)!

1
11. a) The geometric series 1+ x + x2 + X3 + x4 +... = - for what values of x?

I-x
What is the radius of convergence for this series?

1
b) Use part a) to find a series centered at 0 for-. What is the radius of convergence?I+x

c) Usethe informationin b) to finda seriescenteredat 0 for I (x)=In(1+ x) .

f
.5 In(1 + x)

d) Find dx accurate to within. 01.
0 x

12. Sketch a function whose Taylor series centered at a = I could be given by
1+I(x-l)-I(x-l)2 +... .

13. Let I(x) = X2 + 3x - 4. a) Write the Maclaurin series for I(x). b) Write the
Taylorseriesfor f (x) centeredat a = 2.

14. Use the Maclaurin series for eX to find the Maclaurin series for f(x) = e-x' .


